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Individual Report

Question: What are some of the advantages and disadvantages of imperialism? Does impe-
rialism still occur today? Why or why not? Justify your answer with specific evidence. Is
imperialism a problem, progress, or a promise?

1.  Response includes at least three advantages and at least three disadvantages of Impe-
rialism.

2. Response considers multiple perspectives within the discussion of advantages and
disadvantages of Imperialism

3.  Response clearly states whether or not imperialism still occurs today

4. Response includes at least three reasons that explain whether or not imperialism still
occurs today

5. Response addresses whether imperialism is a problem, progress, or a promise


